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Gammaα =
𝜗

2
β = 2

𝒇(𝒙) =
𝟏

𝚪 (
𝝑
𝟐) (𝟐)

𝝑
𝟐

𝒙
𝝑
𝟐

−𝟏𝒆−
𝒙
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 

𝑿𝟏, 𝑿𝟐, … . , 𝑿𝝑

𝑵(𝟎, 𝟏)∑ 𝑿𝒊
𝟐𝝑

𝒊=𝟏 ↝ 𝝌𝝑
𝟐

𝒙𝟏, 𝒙𝟐, … . , 𝒙𝝑

𝜗𝑖

 

(𝜗 ≥ 30)μ = ϑ𝜎2 = 2𝜗Z

𝒁 =
𝝌𝟐  −  𝝑

√𝟐𝝑

Gamma
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−𝟏𝒆−
𝒙
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𝚪(𝛂) = Γ (
𝝑

𝟐
) = ∫ 𝒙

𝝑

𝟐
−𝟏   𝒆−

𝒙

𝟐  𝑑𝑥
∞

0

𝚪(𝛂) = (α − 1)Γ(α − 1)

𝚪(𝛂) = (α − 1)!

 

𝚪(−𝟏) = (−2)! = ∞

𝚪(𝟎) = (−1)! = ∞

𝚪(𝟏) = (𝟎)! = 𝟏

𝚪(𝟐) = (1)! = 𝟏

𝚪(𝟑) = (2)! = 𝟐

𝚪(𝟒) = (𝟑)! = 𝟔



 

𝚪(𝟎. 𝟓) = √π = 𝟏. 𝟕𝟕𝟐𝟒

𝚪(−𝟎. 𝟓) = −𝟐√𝛑

𝚪 (
𝟑

𝟐
) = Γ(1.5) = 0.5Γ(0.5) = 𝟎. 𝟓√𝝅

𝚪 (−
𝟑

𝟐
) =

𝟒

𝟑
√𝝅

 

χ ↝ 𝜒3
2

 

 Γ(𝛼)Γ(𝛽)


